
SIDE TABLE ASSEMBLY INSTRUCTIONS
(FRENCH INSTRUCTIONS ON OPPOSITE SIDE)

The side table is now in a convenient position
for storage. When you are ready to use the
table, grasp the front and back with both
hands and swing the table to its normal
position, (Illustration C).

Push down on the table near the grill to make
sure the Brackets slide all the way down over
the Rivets.

P/N 03.5138.05
REV. 12/12

TOOLS REQUIRED: Phillips screwdriver, 3/8" open
end wrench or pliers.
\

1. Attach 3/8" Bolts from inside the Bowl through hole in Right Side Table Pivot Brackets.  
(Illustration A)

For Series 9300 Cart Grills: Use 1 1/4" Bolts included with grill. Attach from outside through hole
in Right Side Table Pivot Brackets, through the cart frame. (Illustration B)

2. Attach Locknuts to the bolts; tighten when both are attached.

3. Repeat steps for the Left Side Table.

10-24 X 1 1/4” BOLT
10-24 LOCKNUT

PIVOT BRACKET

9300 CART GRILLS C

BOWL 3/8’ BOLT PIVOT BRACKET

LOCKNUT

© MECO CORPORATION® 2005

FRONT

BACKRIVETS

A
B

For Customer Service, call 1-800-251-7558 or visit our website at www.MecoAmerica.com



La tablette est alors en position pratique pour le rangement.
Quand vous êtes prêt à employer la tablette, saisissez le
devant et le derrière des deux mains et basculez la tablette à
sa position normale. (Schéma C).

Enfoncez sur la tablette près du gril pour vous assurer que les
supports glissent complètement sur les rivets.

Pour le service à la clientèle, composez le 1-800-251-7558 ou visitez notre site web www.MecoAmerica.com

OUTILS REQUIS:  Tournevis Phillips, clé ouverte ou pince de 3/8 po

1. Attachez des boulons 3/8 po à partir de l'intérieur de la cuvette à travers le trou des supports pivotants de la tablette droite.
(Schéma A.) 
Pour les grils à chariot de la série 9300: Employez les boulons 1¼ po qui accompagnent le gril. Attachez de l'extérieur à travers 
le trou des supports pivotants de la tablette droite et à travers le cadre de chariot. (Schéma B.)

2. Attachez les écrous de blocage aux boulons; resserrez quand ils sont tous les deux attaché.  

3. Répétez les étapes pour la tablette gauche.  

BOULON 1 1/4
ECROU DE BLOCAGE

SUPPORT
PIVOTANT

GRILLS Á CHARIOT 9300 C AVANT

DERRIÉRERIVETS
CUVETTE BOULON 3/8

SUPPORT
PIVOTANT

ECROU DE
BLOCAGE

INSTRUCTIONS DE MONTAGE DE LA TABLETTE DE CÔTÉ
(REMARQUE: ENGLAIS INSTRUCTIONES À LA PAGE OPPOSITE).

© MECO CORPORATION® 2005

A

B


